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QUESTION 1

An app uses a queue of worker dynos to perform complex image processing, but the worker dynos are occasionally
running out of memory when performing the processing. All of their dynos are currently standard-1x dynos. What should
an Architect recommend in this scenario? 

A. Add additional worker dynos. 

B. Break up the image processing across multiple dynos. 

C. Move the app to a Private Space. 

D. Change the type of dynos to standard-2x. 

Correct Answer: D 

Reference: https://devcenter.heroku.com/articles/scaling 

 

QUESTION 2

What is a Heroku dyno? 

A. An on-prem server that you can install in a rack at your nearest co-location facility 

B. Your application code compiled and ready to be served to a variety of web clients 

C. A specialized dinosaur monitoring service delivered from the cloud 

D. A managed runtime container with a Linux operating system underneath 

Correct Answer: D 

 

QUESTION 3

A client wants to secure their web application using SSL/TLS. They do not have specific requirements regarding using a
particular version of SSL/TLS. Which two Heroku features should an Architect recommend as options? (Choose two.) 

A. Heroku Private Spaces 

B. Automated Certificate Management 

C. Heroku SSL 

D. Heroku Shield Private Spaces 

Correct Answer: BC 

Reference: https://devcenter.heroku.com/articles/ssl 
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QUESTION 4

Universal Containers wants to invoice its customer for the parts used when performing repairs on installed Assets. 

What should a Consultant recommend to track the price of the parts consumed? 

A. Use Products and Price Books to track the price. 

B. Use Opportunity Line Items and Price Books to track the price. 

C. Use a custom object to model the Work Order pricing and price. 

D. Use Assets and Products to track the price. 

Correct Answer: A 

 

QUESTION 5

When designing a Heroku application, which two approaches observe the Twelve-Factor methodology? Choose 2
answers. 

A. On deployment, Heroku fetches and installs any dependencies that are missing according to the application\\'s list of
dependencies 

B. On startup, the application\\'s source code fetches and installs any dependencies that are missing according to the
application\\'s list of dependencies. 

C. The application\\'s database configuration is stored in the application\\'s Profile 

D. The application\\'s database configuration is stored in the application\\'s config vars. 

Correct Answer: AD 

https://devcenter.heroku.com/articies/heroku-connect-database-tables#encrypted-strings 
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